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input

s "dafrvua";

"yfauaId Ui =1"
“uflauasfivtniiendau = 2"
= 3ll

f

“sfiqnavdiutvwiiniuiie
“fayalalinsuaganld 0"

» "asentenavosdudui 1 v;
AU IanTETTRTUANTUA 1 (H) ~ 12.5 "
1.8 we/miv

acomtinmbhutinvesdiudui 1 (y) *
“f1 Undrained Shear Strength fuff 1(c)* 1.7 wg/m?» |
0 *hLiffmhe |

tl=
"hAngle of Friction{(¢g)"
“yrilaoriudu" 2 vhiffmiwe
"wrufsavnsnaniin(£q) " 1.63 "t/mi*

s "niendonavesdudui 2";
marusHuiza i siufuiul 2 (H) " 2.5 "
rembnbmidnunfuiug 2() " 1.65 wt/min
wt /mz "

"fi1 Undrained Shear Strength fufi 2(c)* 4 .
o ~hifmiwe]|
2

t2 =
"angle of Friction(¢)*®
mplimvasdudiuy b
3.52 mg/mie

rusnfivanmeaaudn(£5) "




P
[

Wl

SheetPiie.nl

» "nyenfenavasdudu 3";

" RIHRT IR MWL ITUAUTUAS (H) * 100 * mn
sdnniniwinduiud 3(0) " 0 mt/mi
€= |*¢h Undrained Shear Strength #ufi 3(c)* 15 “t/m?v |
"angle of Friction(d)™ 0 =hiffmiwn
madanacdudiu" 3 "lLifhniwe
rprufsamureurnfy (£,) 6.6 "t/miv

= "niantdanavesfutiuf 4;

e Tea TWMMTRTIMAUTUA 4 (H) " 0 % me
sfwbhnhwinresfiuiud 4 () 0 vt/m"
4= "dt Undrained Shear Strength fufl 4{c)* 0 *t/m?¥ |
"Angle of Friction(¢)*™ 0 "Lithniw» |
“ siavasdufiun 0 “lifimiun
rusndurnearuin(£,) 0 *t/miw

= “avenieyaramanyauaziuIu strut”;

TEEMWNTHIN strut duuinfiediru ¢ 1.2 =m=
tprdniznin strut dufi2fictunne 2.7 e
“mozdiewin strut fuddfefuder  2.55  vme
narpzHHTMIN strut fuddfieBudse 0 s
ts = mHunwiniuweneis strut dufien 0 wpe

“aTinfRuNATIaNTA " 8.7 “m"
g strut Tumnnu® 6 e

"Surcharge Load" 1 vt/mEn
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“Calculation

n Input Parameter

hsoill
¥l

cl

$1
typel
fs8l

hsoil2
2

c2

¢2
type2
£82

hsoil3
Y3
c3
I X]
type3
£s3

hsoild
v4

c4

¢4
typed
fsd

hstrutl
hstrut2
hstrut3
hstrutd
hstruts
htotalcut
bstrut

H & # n 4

[T LN | S | I | O [ oy nowon g

nonononoa oy

LA | N N TR T

tif[i. 211+
£1[[2, 2]1:
t1l[[3, 211:
ti[(4, 211:
tL1[[5, 2]11:
t1f(6, 2]):

t2[[1, 2]]:
t2iiz2, 21):
t2([3, 2]];
€2[[4, 2]1);
t2[{5, 2]1):
t2[[6, 21]:

e3[(1, 211+
t3{[2, 215
t3{[3, 2117
t3[[4. 211:
t3[[5, 2]1:
£3[{6, 2]];

t4{[1, 211~
tef[2, 2]11-
t4[[3, 2]]1;
4[4, 217+
t4[[5, 2]1=
e4([6, 2]]5

t5[{1, 211
t5{[2, 211;
t5{[3, 211;
t5[[4, 21}
tS[[5, 211+
t5[[6, 2]1s

t5{[7, 2]] ; surcharge

ts5{{8, 211:
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= Pressure Envelop

»"Braced Cut lu Sand";

e = ¢ler/1B0;
pasand = 0.65 «ysand+htotalcutwka;
ka = Tani[(n/4) ~©/2];

“Braced Cut lu Clay *;

*Braced Cut M Soft to Medium Clay";

"1 yxh/c > 4%;

pasoftclay = vsoft+htotalcut -~ (£4xc /2);
pamedium = 0.3 «ysoft«htotalcut;

"Braced Cut lu Stiff Clay";
1 y+rh/c < 4%;
pastiffclay = 0.3 +ystiff « htotalcut;

If{typel =1, ¢c=0];
If(typel =2, c=cl];
If{typel =3, ¢=10];

If[typél =1, ysand=yl, ysand = 0] ;
Yfftypel = 2, ysoft=vyl, ysoft=0];
If[typel = 3, ystiff = yl, ystiff=0];

If{And{typel == 1, htotalcut < hsoill], (pa =pasand)];
If[And[typel == 2, htotalcut < hsoill], (pa =paclay)]};
paclay = Max{pasoftclay, pamedium];

If{And[typel == 3, htotalcut < hsoill], (pa=pastificlay)];

paall pa + surcharge;

If[And[typel = 1, hstrut5 # 0], fl1 = paall « (hstrutl +hstrut2+0.5)];
If{And{typel = 1, hstrut5 # 0], £2 =paall« (0.5 «hstrut2 + 0.5+« hstrut3}];
If[fAnd{typel =1, hetruts # 0], £3 = paall « (0.5 «hstrut3 +0.5+hstrut4)];
If{And{typel = 1, hstruth # 0], £4 = paall+ (0.5+hstrut4 + 0.5 +hstrut5) };
If[And[typel = 1, hetrut5 # 0], £5 = paall« (0.5 «hstruts5)]l;

If[And{typel = 1, hstrut5 = 0], £1 = paall « (hstrutl + hstrut2+0.5)];
If{And[typel = 1, hatruts =0], £2 = paall+ (0.5« hstrut2 + 0.5 +hetruti)];
If(and{typel == 1, hstrutS = 0], £3 = paall+ (0.5 +hstrut3 + 0.5 +hetrut4)];
If{And[typel =1, hstrut5 =0},

£f4 = paall « (0.5« (htotalcut - hstrut4 - hetrut3 - hetrut2 - hstrutl))];
Iff{And[typel = 1, hstruts = 0],

£5 = paall« (0.5« {(htotalcut - hstrut4 - hstrut3 - hetrut2 - hetrutl))};

If[and[typel = 1, hetrutS = 0, hstrut4 = 0], £f1 = paall « (hstrutl + hstrut2+0.5)];
If[And{typel = 1, hstrutS =0, hstrut4 = 0], £2 = paall« (0.5« hstrut2 + 0.5«hstrut3)j;
If[And[typel = 1, hstrut5 = 0, hstrut4 = 0],
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£3 e paallw (0.5«hatrut3 + 0.5« (htotalcut - hstrut3 - hstrut2 - hstrutl))];
If[And[typel = 1, hstrut5 = 0, hstrutd = 0], £4 = 0];
If(And{typel =1, hstrut5= 0, hstrut4 = 0],

£5 = paall « (0.5« {htotalcut ~hstrut3 - hstrut2-hstrutl))];

If{And{typel == 1, hstrut5 =0, hastrutd = 0, kstrut3 = 9],
£1=paalls (hstrutl+hstrut2+0.5)];
If[And[typel = 1, hstrut5 = 0, hstrut4 = 0, hstrut3 = 0],
f2 = paall « (0.5« (htotalcut - hstrut2 - hstrutl))];
If[and[typel =2, hatrut5 =0, hstrut4 = 0, hstrut3 = @], £3 =0];
If[And{typel = 1, hstruts = 0, hstrutd = 0, hstrut3 = 0}, £4 = 0];
If {And{typel == 1, hstruts = 0, hstrut4 = 0, hetrut3 = 0],
£5 = paall« (0.5« (htotalcut - hatrut2 - hstrutl))];

If{And[typel = 2, hetrut5 # 0], £1 = (0.5+ (8urcharge + paall) «htotalcut« 0.25) +
{({(0.5+hstrut2) + hstrutl) -~ htotalcut « 0.25} «paall];

If[And[typel = 2, hstrut5# 0], £2 = paall« (0.5+hstrut2 + 0.5 « hstrutd) ];

If[And[typel = 2, hstrut5 ¢ 0], £3 =paall« (0.5+hstrut3 +0.5+hstrut4)];

If{And[typel = 2, hstrut5# 0], £4 = paall« (0.5 «hatrutd + 0.5 »hatrut5)];

IffAnd[typel = 2, hstrut5 £ 0], £5 = paall« (0.5 «hstruts)];

If[And[typel = 2, hatrut5 = 0], £1 = (0.5« {surcharge +paall) «hhtotalcut+0.25) +
({{0.5 #hstrut2) + hstrutl) - htotalcut % 0.25) »paall);

Iffand{typei = 2, hstrut5 = 0], £2 = paall « (0.5 +hatrut2+ 0.5 «hstrut3)];
If{Aand[typel =2, hstrut5 =0}, £3 = paall« (0.5 s+hstrut3 + 0.5 «hstrucd)];
If{And{typel =2, hstruts = 0],

f4 = paall« (0.5« (htotalcut - hstrut4 - hetrut3 - hgtrut2 - hetrutl))]:
If[And[typel = 2, hstruts = 0],

£5 = paall # {0.5» (htotalcut - hstrut4 - hstrut3d - hstrut2 - hstrutl))};

If[And{typel = 2, hstrut5 = 0, hgtrut4 = 0],

£l = {G.5« (surcharge + paall) +htotalcut«0.25) +

(((0.5+hstrut2) + hstrutl) - htotalcut«0.25) xpaall];

If{And[typel == 2, hstrut5 =0, hstrut4 = 0], £2 = paalls+ (0.5 «hstrut2 + 0.5 +hatrut3)];
If[And[typel = 2, hstrut5 = 0, hstrutd = 0},

£3 = paall « (0.5 xhstrut3 + 0.5« (htotalcut - hstrut3 - hstrut2 - hstruti))];
Tf[And[typel = 2, hstrutS5 = 0, hatrut4 =01, £f4 = 0];
If[{And[typel = 2, hstrut5 =0, hstrut4 = 0],

£5 = paall « (0.5« (htotalcut - hstrut3 - hstrut2 - hstrutl))];

IffAnd{typel == 2, hstrut5 = 0, hstrut4 = 0, hstrutl = 0],

£1 = (0.5« (surcharge + paall) «htotalcut«0.25) +

({(0.5+«hstrut?) + hatrutl) - htotalcut « 0.25) +«paall];

If[And[typel = 2, hstrutS = 0, hatrut4 = 0, hstrut3 = 0],

£2 = paall « (0.5« (hcotalcu}: -hstrut2 - hstrutl))];
If{And[typel = 2, hstrut’5 = 0, hstrut4 = 0, hstrut3 = 0], £3 =0];
If[And[typel = 2, hstrutS5 = 0, hstrut4 = 0, hstrut3 = 0], £4 = 0];
If{Aand[typel = 2, hstrutS =0, hastrut4 = 0, hstrut3 = 0],

£5 = paall « (0.5« (htotalcut - hstrut2 - hstruti))];

¥f{And{typel = 3, hstrut5 £ 0}, £1 = (0.5« (surcharge + paall) *htotalcut«0,25) +
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(((0.5 «hstrut2) + hstrutl) -~ htotalcut+0.25) «paall];
If{and{typel = 3, hetrutS ¢ 0}, £2 c paall + {0.5 « hstrut2 + 0.5 «hstrut3d) j;
If[And[typel = 3, hatrut5# 0], £3 = paall+ (0.5 «hstrut3 « 0.5 «hstrutd)];
If[And[typel =3, hstrut5 ¢ 0], £4 = paall+ (0.5 « hstrut4 + 0.5 »hstrut5)];
If[and[typel = 3, hetrutS # 0], £5 = (paallw (0.5«hstrut5) - (0.5 +htotalcut«0.25 *pa)') 1:

If[And[typel = 3, hstruts = 0], £1 = (0.5 * {surcharge +paall) s htotalcut+0.25) +
({(0.5 +hstrut2) + hstrutl) « htotalcut £ 0.25) «paall];

If[And[typel = 3, hstrut5 = 0], £2 =paall+ {0.5 vhstrut2 + 0.5 +hetrut3d)];
If{And[typel = 3, hstrut5=0], £3 =paall« (0.5«hstrut3 + 0.5 «+hstrutd4)];
If[And[typel = 3, hstruts = 0},

£4 = paall« (0.5« {(htotalcut - hstrutd - hetrutld « hetrut2 - hstrutl))]1;
If[And[typel = 3, hstrut5e=0], )

£5 = (paallw (0.5 » (htotalcut - hstrutd - hstrut3 - hstrut2 - hgtrutl)) -

(0.5 +«htotalcut«0.25+pa))]:

If{And[typel = 3, hastrut5 = 0, hstrut4 = 0],

£f1 = (0.5« (surcharge +paall) xhtotalcubt«0.25) +

({(0.5 «hstrut2) + hstrutl) - htotalcuts 0.25) +«paall]:

If [And[typél = 3, hatrutS = 0, hatrut4 = 0], £2 = paall +« (0.5 «hstrut2 + 0.5« hatrut3)];
If[and[typel = 3, hstrutS =0, hstrutd = 83,

£3 = paall+ (0.5«hstrut3 + 0.5~ (htotalcut - hstrut3 ~hstrut2 - hstrutl))];
If[{and[typel = 3, hstruts = 0, hstruté = 0], £4=0];
1f[And{typel = 3, hetrut5 =0, hstrutd = 0], £5=

(péall % {0.5+ (htotalcut - hstrut3 - hstrut2 - hstrutl)) - (0.5«htotalcut+0.25 «pa))]:

If[And[typel = 3, hstrut5 = 0, hstrut4 = 0, hstrut3 = 0],

£f1 = (0.5 « {surcharge +paall) »htotalcut«0.25) +

(((0.5 #hstrut2) + hstrutl) - htotalcut«0.25) «paall];

If[And{typel == 3, hstrutS = 0, hetrut4 = 0, hetrut3 = 0],

£2 = paall+ (0.5 (htotalcut - hstrut2 - hstrutl))];
1f[and[typel = 3, hstrut5 = 0, hstrutd = 0, hstrutld = 0], £3 = 0];
I£{and[typel = 3, hstrut5 = 0, hstrutd = 0, hstrut3 = 0], £4=0];
If{And[typel = 3, hstrut5 == 0, hstrut4 = 0, hstrut3 = 0],

£S5 = {paall « (0.5+ (htotalcut - hstrut2 - hstrutl)} - (0.5 «htotalcut«0.25+pa})]:

s Sheet Pile
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"aanuuATINET R G MnAN® ;
8 = sul v {htotalcut - 2« gul / ¥l}:
sf = (285 +8u2exabls+2esu2 *bl) 7 (bl+ {y«htotalcut + surcharge));
IF(htotalcut < hsoill, (sul = cl)];:
I£[(hso1l2 + hsoill) > htotaleout > hsoill,
{sul = (¢lwhsoill+c2« (htotalcut - hsoill)) / (hsoill + (htotalcut - hsoill)))]:

maxhsgtrut = Max[hstrutl, hstrut2, hstrut3, hstrut4, hstruts];

m0 := {paall +maxhstrut?/ B} ;
8x 1= (m0»100000) /1250;

I£f0 < 8x <1340, sheetpile = * Sheet Pile Type FSP III%];
I£[1341 < sx < 1520, sheetpile = * Sheet Pile Type FSP IIIA*];
I£{1521 < sx < 2270, sheetpile = * Sheet Pile Type FSP IV"];

. I£[2271 < sx < 2150, sheetpile = * Sheet Pile Type FSP V L%);
I£[3151 < sx < 3820, sheetpile = * Sheet Pile Type FSP VI L"];

m Table for SF

TableSF[{q_, B}, {¥1_, sul_, B1_}] :=
Module[(s, su2x, Bx, sF},
Sul)

8 = Sul (H-Z—-—
¥l

i

Sulx = Sul;

Bx = B1;

25+ SuZxwBx + 2 Su2x Bx
Bx (¥1H+q) :

{#+81, sF}]

SF =

TableSF[{q_, #_}, {y1_, Sul_, Bl_}, {Su2_, B2_}] :=
Module[(S, Su2x, Bx, SF},

Sul
5 =5ul [5-2 -—J:
71
( Sul Bl + Su2 B2
Su2x = );
Bl + B2

Bx = B1 + B2;

25+ Su2x 7 Bx + 2 Sulx Bx
Bx (ylH+ q) ?

(& + 31 +B2, 5F}]

SF =




"“P\
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TablesFI{q . H }, {vi_, Sul_, B1_}, {Su2_, B2_}, {Su3_, B3 _}] :=
Module[{s, Su2x, Bx, SF},

Sul
S=8ul [H«2 —|;
¥l
Eul Bl + Su2 B2 + Su3 B3
Su2x = i
Bl + B2 + B3

Bx = Bl + B2 + B3;
SF 28 +5u2xBx + 2 Su2x Px
- Bx (ylH+q) !

{H+B1+B2+B3, 5F}]

TableSF[{q_, H_}, {v1_, Sul , Bl_}, {(Su2_, B2_}, {Su3_, B3_}, {Sud_, B4_}] :=
Module[(s, Su2x, Bx, SF),
Sul
S =8ul (H -2 —-—--)
Tl
Sul Bl + Su2 B2 + Su3 B3 + Su4 B4
{ Bl +B2+B3+B4 )
Bx =Bl +382+B3+B4;
© 28+Sulxxdx+ 2 Su2xBx .
Sk = “Bx (y1H+q) !
{H+B1+B2+B3+B4, 5F}]

.
E)

F

Sulx =

TableSFL{{q_, L_}. {H_, yAv_, SuAv_}, {{Sul_, D1_}, {Su2_, D2 }, {Su3_, D3_}}] :=
Module{{}.,
I£[D1+D2 <L-E<=Dl+D24+D3,
TableSF({q. H). {¥1, Sul, D1}, {Su2, D2}, {Su3d, L- (H+D1+D2)}].
If[D1<L-H<=D1+D2,
TableSF({q, #}, {vl, Sul, D1}, {Su2, L- (E+D1}}1,
If[0 <L-H<=DI1,
TableSF{{q. H}, {¥1, Sul, L~H}]]]]]

LSFL = Table[TableSFL[{surcharge, iLi}, {htotalcut , ¥1 , c1}, {{cl, hsoill = htotalcut},
{c2, hsoil2}, {c3, hsoil3}}], {iLi, Ceilingfhtotalcut], 50}];
Do|
1f[And[tSFL{[1, 2]] 2 1.50, tSFL[4, 2]) - t8FLI{i -1, 2]]]1 >0,
1.50 - tSFL{[i -1, 2]} .
xtx = tSFL[[1 -1, 1}] + (tSFI:{[i, 11} -tSPL{[i-1, 1]]) (tSFL[{i, 2171 - tsPLili=1, 217 )’

Break{1], (i, 2, Length([tSFL]}];
L=
Ceiling|

xtx]

16
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« Wale

waonuuy Waler fuusan;

momentl £1x (bstrut/3)%/10; "t-m/m";
axialfwl = {(bstrut /3) « £f1; "tous";
“gtress due to Temperature Change = (.000011«E,+AT = 116 ksc";

"fu.=P/A%; “kgc";
*f,=Mp/S5x"; “ksc";

fal = axialfwl «1000 /11%9.8;
fhi = momentl 100000 /1360;
fa2 = axialfwl «1000/173.9;
fb2 = momentl « 100000 /7 2300;
fa3 = axialfwl «1000/238.70;
£fb3 = mamentl « 100000 /3330;

"W 3004300494 Kg/m" “K1/r,=200/13.1% *F, = 3460 ksc"
“9Y 35043504137 Kg/m® "K1/r,=200/15.2%. ¥, = 1470 ksc"";
W 40044004172 Kg/m¥ *"K1/r,=200/17.5% *¥, = 1475 ksc*

AE, /Fat+fp/Fp < 1 WG »;

“E /Fa+fp /Py = fafbim;

fafbl = (£al+ 116) /1460 + £b1 / 1250;
fafb2 = (£a2+ 116) /1470 + £b2 / 1250;
fafb3 = (fal3 « 116) /1475 + £b3 7 1250;

w300 = *"Wide Flange 300+300«94 Eg/m*;
w350 = "Wide Flange 350+350+x137 Kg/m";
w400 = *"Wide Flange 400+400«172 Kg/m";

If{fafb3 < fafh2 < fafbl < 1, (firstW=w300)];
If{fafb3 < £fafb2 £ 1 < fafbl, (firstW =w350)];
If[fafb3 <1 < fafb2 < fafbl, (firstW=w400)];:

“saruuy Waler dufune;

fwmax = Max{£2, £3, £4] ;
moment2 = fumaxw (bstrut/3)2/10; "t-m/m";
axialfw2 = {bstrut / 3) » fwmax; "tons";

"stress due to Temperature Change = 0.000011+E,«AT = 116 ksc";

“fa=P/A"; "kac";
EL=Mp /S "ksco";
*fa=fa;";
“fp=fhy";

" fal = axialfw2 %10007119.8;
£bl = moment2 100000/ 1360;
fa2 = axialfw2 #1000/173.9;
fb2 = moment2 #100000/2300;
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fal = axialfw2 «1000/238,.7;
fb3 = moment2 « 100000/ 3330;

"/ Fatfpn/Fp < 1 1‘3161 "
"f./Fe+fn/Fn = aaa,bbb,ccc";

aaa = (£fal+ 116) /1460 + £b1 /1250;
bbb = (£a2 + 116) /1470 + £b2 / 1250,
ccc = (£a3 + 116) /1475 + £b3 / 1250,

If{ccc <bbb < aaa 1, (otherW=w300)];
If[ccc <bbb 51 < aza, (otherW =wiS0)];
If[cec 51 <bbb < aaa, {(otherW =wi{00)];

u Strut

"oonuuy strut dunIne;
"HHAMLNIYEN strut (Esp) ";
fsp = f1 «bstrut; *tons%;

"wiwin Wide Flange 3004300494 Kg/m";
susdhuunu x (£px) *;

ruslutm y (£py) "

"mivin Wide Flange 250+350+137 Kg/m*;
=erlunununs x (spx) ";

swsdhumume v (spy) *;

*wi1ia Wide Flange 400+400+172 Kg/m":
spslunuune x {tpx) ";

=uasluuwunu y(tpy)*;

fpx = £5px 1000 /119.8 + 116;
fpy = fsp+« 1000/ (1.3 %« 119.8) + 116;
spx = £5p«1000/173.9 + 116;
8pY = £sp+ 1000/ (1.3 +173.9) + 116;
tpx = £5p« 1000 f 238.7 + 116;
tpy = £5p+ 1000/ (1.3 #238.7) + 116;

10

*K1/ry=600/10.1% "F, =

"W 300+300«94 Kg/m" *Kl/r,=600/13.1* *F, = 1312 ksc"
*K1/r,=600/7.51" "F, = 1077 ksc"

o "W 350+350«137 Kg/m" "K1/Tyx=600/15.2" "F, = 1347 ksc"
"Kl/ry=600/8.84" "F, = 1169 ksc"

"W 400+400+172 Kg/m" *"Kl/r,=600/17.5" "F, = 1372 ksc"

1225 ksc"

If[And[fpx > spx > tpx, fpx £ 1312], 444 = fpx];
If{And[spx > tpx, £px > 1313], ££f = spx]:
If{And[spx > 1347, tpx < 1372), khh = tpx];
If[And[fpy > spY > tbY, £py 5 1077], eea = fpy);




£
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11

If{And{spy > tpy, fpy > 1078}, ggg = spy]:
If[And{spx > 1169, tpy = 1225), 1ii = tpy];

susdluunu x (ddd,£££,hhh)< F, W4 »;
rusihnu y (eee,ggg.iii)< Fa Wl »;

w300 *Wide Flange 300+300«94 EKg/m";
w350 = "Wide Flange 35043504137 Kg/m";
w400 = "Wide Flange 400+4004172 Kg/m";

I£{And[ddd < 1312, eee < 1077], {firstS =w300}];
If[And[£f£f < 1347, ggg < 1169], {firstsS =w3i50}];
If[And{hhh <1372, 111 < 1225], {first8 =wi00}];

mgaouuy strut fuuqe;

TURMNUH MY strut (osDp) "

.fsmax = Max[f2, £3, £4] ;
6sp = £smax a«bstrut;

“wilwin Wide Flange 200+300+94 Kg/m";
"_u‘ﬂ'luuu'umu x(ofx)*;

susdlunaunn y(ofy) ";

*mlin Wide Flange 350%350+137 Kg/m";
"rrtuwounu x (osx) ";

urluuanu vy (osy) ";

*wiivwin Wide Flange 400x400+172 Kg/m";
*usthunnunu x (otx) ";

*“uHlua y (oty) *;

ofx = ogp+ 1000 /119.8 + 116;
ofy mosp+« 1000/ (1.3 %119.8) +116;
osX =oBp+1000/173.9+116;
oSy =08p+ 1000/ (1.3%x173.9) +116;
otx = osp« 1000 /238.7 + 116;
oty =osp« 1000/ (1.3+238.7) +116;

*urluunu x (ggg, kkk,111)< F, W4 ~;
"uiluunu y (omm,nnn,coo) < Fa 114 *;

If{And[ofx > 08x > otx, ofx 2 1312], §33 = ofx];

If[{And[osx > otx, ofx > 1313], kkk = osx];
IffAnd{osx > 1347, otx s 1372], 111 = otx];

If{And[ofy > o8y > oty, ofy < 1077}, rum = ofy];

If[(And[osy > oty, ofy > 1078], nnn = osy];
If[And[osy > 1169, oty = 1225], ooo = otyj;

If{And[jji§ <1312, mmm < 1077}, {othexrsS =w300}];
Iff{andf{kkk < 1347, nnn < 1168], {otherS =w350}];
If[And[111 <1372, coo < 1225], {others =w400}];

If{hstrut5 ==0, at =4];
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If[hstrutd == 0, at = 3];
Iffhstrut3 ==0, at = 2];

If [h_strutz ==

= King Post

0, at =1};

*vualdisereywdssmbwinm Platform = 2 t/méw;
sunfliwenu King Post 1 du{fkp)™;

fkp = 2«bstrute«bstrut/2; "tons";

"arumred King Post(lkp)*; "m";

If{type2 =3,
If[type2 =1,
If{typed =3,
If{type3=1,
If[typed =3,
If[typed =1,

If[type2 =13,

If[type3 = 3,
Ifftyped = 3,

If[type2 =1,
Ifftype3 =1,
If{typed =1,

lkp = (hsoill+3)];

1lkp = (heoill+3)];

1kp = (hsoill + heoil2 + 3)];

lkp = (hsoill + hsoil2 + 3)];

1kp = (hsoill+hsoil2 + hsoill « 3}];
lkp = (heoill+ hsoilz‘-r hsoili+ 3));

£l = ({hsoill - htotalcut) «£8l + 3+ F82)];
£l = ((Iisoill - htotalcut) « £51 + hgoil2 « fa2 + 3«1£83)];
£l = {(hsoill - htotalcut) « £51 + hsoilz_* £52 + haoll3 «£53+ 3 « fs4)];

£1 = ((itsoill - htotalcut) «£51 + 3 « £82)]);
£1 = ((hsoill - htotalcut) « £51+ hsoil2 « £82 + 3« £83)];
fl = ({hsoill - htotalcut) « ££1 + hsoil2« £52 + haoil3 « 53+ 3« £84)];

qfl = flwdx0.3;
gE2 = £l «4«0.35;
gf3 = £fl+«4«0.4;

If[type2 =3,
If[{type3 =3,
If{type4 =3,
If{type2 =3,
If[typeld =3,
If{typed =3,
If[type2 = 3,
If{type3 =3,
If{types =3,

If[type2 =1,
Ifftype3 =1,
If{typed =1,

a5
&5

If[type2 =1,
If[typed =1,
If{typed == 1,

{(Gbl=9%c2+0.3%0.3)];
{(qbl=9%c3+0.3+0.3)];
(gbl=9+c4+0.3+0.2)];
{gqb2 = 9%Cc2+0.3540.35)];
(qb2 = 9 4¢3 +0.35%0.35));
(9b2 = 9%c4+0.35%x0.35)];
{(qb3 =9+c240.4+0.4)];
(b3 =9 4c3+0.4+0.4)];
(gb3 =9+cd4+0.4+0.4}];

(gbl = 0.7 xovaTan[865])]:
(gh2 = 0.7 xov«Tan{&55])]:
{gb3 = 0.7 xvov«Tan(55])]:

$5%«x/180;
3x05/4;

(ov=hsoilleyl+3+%2)];
{ov=hseill+yl+hsoil2«y2+3x¥3)];
(ov=hsoill+yl+heoil2+y2 +hsoil3 «y3+3=v4)];
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If[type2 = 1, ¢S5 = ¢2, ¢5 = 0];
If[type3 =1, ¢5 =43, ¢5=10];
If{typed =1, 45=¢4, ¢5=0];

qul = gbl + gqfl;
qal =qul /1.25;
qu2 = gb2 + g£2;
qaz=qu2/1.25;
qu3 = qgb3 + q£3;
ga3d =qu3 /1.25;

w300 *Wide Flange 300«300+94 Kg/m";
w350 = *Wide Flange 350+350+137 Kg/m";
w400 = "Wide Flange 400+400+172 Kg/m";

L]

If[fkp < gal < qa2 < gqa3, (kingpost =w300)];
If[qgal < £kp < ga2 < ga3, (kingpost = w350)];

If{qal < qa2 < £kp < qa3, (kingpost = w400)];

s Graphics
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<< Graphics Arrow’
Figl[surcharge_, pa_, htotalcut_, bracings_, soiltype } :=
Module{{}.
ArrowT = Table|
Arrow[{1.5, -bracings[[i, 1]]}, {0, ~bracings([[i, 1]]}]. {1, Length{bracingsl}]};
TArrow = Table[Text{ToStringfbracings[{i., 2]]] <> " t/m*,
{1.6, ~bracings{[i, 111}, {-1. 0}], (i, Length[bracings}}];
TPressure = {
Text[*surcharge = " <> ToString[surcharge] <> "t /m?", {-0.8 surcharge, 0}, {-1, ~1}]1,
Text{¥p,= " <> ToString[pa] <>* t/m*", {~0.8 surcharge, -htotalcut-0.5}]};
If[goiltypa=1, "sand";
PressureG = {Line[{{0, 0},
{~surcharge - pa, 0}, {-surcharge - pa, -htotalcut},
{0, ~htotalcut}, {0, 0}}1}.
If[soiltype = 2, "soft clay";
PressureG= {Line{{{0, 0}.
{~surcharge, 0},
{-surcharge - pa, -0.25 htotalcut}, {-surcharge-pa, =htotalcut},
{0, -htotalcut}, {0, 0}1}1},
If{soiltype = 3, "stiff clay™;
PressureG = {Line[{{0, 0},
{-surcharge, ¢},
{-surcharge -pa, -0.25 htotalcut},
{-surcharge - pa, -0.75 htotalcut},
{-surcharge, -htotalcut},
{0, ~htotalcut}, {0, 0}}1}]1], pressureG=.]};
Show[Graphics[Flatten[{ArrowT, TArrow, PressureG, TPressure}]l],
AspectRatio + 1.5, PlotRange - {{-surcharge-pa -2, 15}, {1, -htotalcut-1.5}}]1+
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Output

Print[*-* sheetpile, * Length =", L, - m"}];
Print{"- Bracing System"];
If[And[hstruts = 0, hstrut4 > 6], Print[* %, at, " Layers at®, " -v, (hstrutl),
= m, =% (hstrutl+hstrut2), * m, %, (hstrutl + hstrut? + hstrut3), " m and -",
(hstrutl + hstxut2 + hstrut3 + hstrut4), ¥ m*, * from ground Surface"]];
If[And{hstrutd == 0, hastrut3 » 0], Pxrintf* ", at, * Layers at",
* =%, {(hstrutl), * m, -*, (hstrutl+hstrut?}, * m and -*%,
(hstrutl + hstrut2 + hstrut3), * m*, * from ground Surface®}]:
If{And[hstrut3 = 0, hstrut2 > 0], Print[* *, at, " Layers at", * =", (hstrutl),
* m and -%, (hstrutl+ hstrut2), " m¥, * from ground Surface"]};
If[And[hstrut2 = ¢, hatrutl> 0], Print[*" *, at, * Layers at®,
* -%, (hstrutl), " m", * £from ground Surface*]];
Print[*- Strut Spacing = ¥, bstrut, * m*];
Print{"- Wale *];
Print[* 1% Layer Use Section ®, £irstw];
If[And[hstrut5 = 0, hstrut4 > 0],
_Print[" 2* , 3" and 4 Layer Use Section *, otherW]];
If[And[hstrut4 = 0, hstrut3 > 0], Print[" 2™ and 3™ Layer Use Section *, otherw]];
Iffand({hstrut3 = 0, hstrut2 > 0], Print{* 2™ Layer Use Sectien *, otherw]];

Print{"- Strut “]:
Print[" 1** Layer Use Section ", £irsts]:

If[And[hstruts =0, hstrut4 > 0],
Print[* 2™ , 3™ and 48 vayer Use Section ", otherS)];

If[And[hstrutd = 0, hstrut3 > 0], Print[* 2™ and 3™ [ayer Use Section ", othersS}];
If{and[hstrut3 = 0, hstrut2 > 0}, Print["® 2™ Layer Use Section *, otherS}1:

Print["- King Post "];
Print{* Use Section ", kingpost, ® , Tip at - *, 1kp, * m from ground Surface*];

Figl{surcharge, paall, htotalcut,
{{hstrutl, £1}, {hstrutl+hstrut2, £2}, {hstrutl + hstrut2 + hstrut3, £3}}, 2]);

- Sheet Pile Type FSP 111 JLength =16 m
-~ Bracing System

3 Layers at -1.2 m, ~3.9 m and -6.45 m from ground Surface
~ Strut Spacing = é m
- Wale

1* Layer Use Section Wide Flange 300+300+«94 Kg/m

2™ and 3™ Layer Use Section Wide Flange 350+«350+137 Kg/m
- Strut

1% Layer Use Section Wide Flange 300+300-94 Kg/m

274 ang 3™ Layer Use Section Wide Flange 350«350+137 Kg/m

- King Post
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Use Section Wide Flange 300+300+%4 Kg/m , Tip at - 18. m from ground Surface

surcharge = 1t/m?

l17.9365 £/m

l30.24 £t/m

e 27.648 t/m

Pas 11.52 t/m®
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